EE UM ABCD 2HITHMET 2 T2 OLEA-5r 51T
AB+CD=BC+DA

AEBA U ABCD 28MicHEd %5 L&, i AB, BC, CD,
DA tofRzznth K, L, M, N &35,
AK=AN, BK=BL, CM=CL, DM=DN
ThHHNb
AB+CD=AK+BK+CM+DM
=AN+BL+CL+DN=BC+DA

L%,

Wiz, AB+CD=BC+DA ThH? LT 35,
LINOFENTRTELVEE, UAK ABCD X0 LE L 20 L NCHICHMET D,
EESNERDNNH D84, AB<BC & LT Hadebrauy,
BC LIz BP=BA &£7%58P%& Y, CD iz CQ=CP &7 %
RQ&ELHeE

DQ=CD-CQ=(BC+DA—-AB)—-CQ
=DA+BC—BP—-PC=DA
L%, LB, £C, 4D O TESIL, FnEh AP, PQ,
QA OFEE _HEN/RTHY, AAPQ DL O TRD D,
O 11X AB, BC, CD, DA »»o%iEHicH 5005, O ZH00
EFTAMIEZ D 450Ic8T B, (RERA#)




